ol 1422N 1422F
Nr Element z z
1 : S6x60 309 309
2 : W6x60 308 308
3 II : K2_d30_B 1 1
4 DIN125 |  10x20 60 60
9 | — ISO 7380 |  M6x25 8 8
10 DIN9021 |  6x18 485 485
11 @ DIN 1587 M6 200 200
13 (| —) ISO 7380 | M6x20 17 17
14 = IS0 7380 |  M6x12 62 62
15 —D ISO 7380 | M6x30 6 6
21 DIN 125 8x16 201 201
22 DIN 125 6x12 41 41
24 = ISO 7380 | M6x16 196 196
28 [:I] ISO7380 |  M8x25 66 66
29 i *é—_f’v—A(ﬂ—o%o— 4 4
29 Q‘? S i 8 8
30 DINQ021 |  8x24 256 256




<

1422N 1422F
Nr Element z z
a0 | ] ) | 1S07380 | M8x80 6 6
41 —o ISO 7380 | M8x75 4 4
43 (((@ DIN 1587 M8 120 120
56 ) ISO 7380 | M10x30 30 30
57 ( DIN 1587 M10 30 30
58 % LOCTITE 1 1
61 H KL105 (OC) 19 45
90 DIN 125 16x30 96 96
116 —— ISO 7380 | M8x55 64 64
118 — ISO 7380 |  M6x50 15 15
125 [I:ﬂ ISO 7380 M8x45 29 29
131 —— ISO 7380 | M8x60 6 6
147 (), M6x10 107 107
161 | (| ) | 1SO7380 |  M6x90 8 8
188 {0 ) ISO 7380 | M6x55 14 14
213 @ Z_NA_1 1 1
214 @ Z_NA_2 1 1




1422N 1420F

Nr Element 2z 2

7
238 ((I DIN 1587 M16 96 96

XX
294 [i ) ISO 7380 M8x65 54 54
295 i ] ; KL M12x150 64 64
296 ] | | DIN6O3 | M16x180 56 56
297 ] ] | DIN6O3 | M16x170 40 40




